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They all are exempt — LD 192

OVERVIEW

The X3 cites a dispute between the 7127 and °"1 in a case where ten people hit a
person and killed him. The 7127 maintain that all are 75, while *"7 maintains that
the last one is 2n." Our MooIN will qualify the view of the 1121.
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And we are discussing a case where there is sufficient force in the first blow(s) to

Kkill on it own. It is only in this situation that all are 105, however -
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When the first blow(s) do not have sufficient force to kill on their own, even the
3329 maintain that the last one is 21, since he alone killed him as is evident in
oI 5 pon.?

SUMMARY
If the first (nine) blows are N7 °75 12 PX then the 13127 agree that 2°°17 NN,

THINKING IT OVER
1. Why cannot we use the case of ni% »72 12 PR (where the 17X is ¥"12% 2°1) as
an example of 121 P11 n¥pna *nwan?*

2. Does moon mean’ that each of the nine was n°»» 73 12 v>; or that all nine
together were N> >73 12 w°?

3. in a case where the NWX1 was n a2 75 12 PR, will the WX be liable to pay
11 m19wn to the heirs of the deceased?®

! See 27°pw 1"7 "W where he explains that they differ in the interpretation of the P05 [in 1,73 (71R) X7p"1], which
states TR w91 93 127 2.

* See “Thinking it over’ # 2.

? The X there cites a Xn™72 which stated initially that the P05 of D78 w51 3 712° * WX teaches us that if one
person hits another and it was n°»772 *73 12 PR and then a second person killed him; the second one is 21. The X3
asked that this is Xv'ws! [The X713 therefore revised the reading of the Xn121 according to the 7ww of *"1.] It is
evident from the question 'Rv*wd' that the 0°mon agree that in this case the 11X is 27r; otherwise why is it a Xvwd
that he is 2.

* See X"wamn. See also 7"2101 °"92 for the difference between this case and 2.

> See footnote # 2.

% See n"ma.
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